RihKRE
FuN—i
RAR—YDEF/NE LK
. g BRI

R84 E

Ba—k =
5 o F—L ﬁ
18 — BAa
AZ—E F—L /7% 74 { — } B¢ jé
eI - il
5t B §|J F—L ‘T=f— — R Z\B _ } o 11
RN e L -] me | o | Femse | = ] xigc | =
i = Z #
1 113:00 H — { ~ } o | romme { : S 7];
2 [13:30 IT\ TR : } FRUB I { _ } *t N\
B i { BRC | C| # ) FOHED |
3 [14:00 1\%, . { : } R THEJIB { : FOBELG I*‘IJT
4 | 14:30 ;‘ _ { _ } e JIEC { - } 5 ’3]'@5
_ — = N =
5 |15:00 {E% Ao { _ } RERC | C — { B }
37 - B 7< —
S (-} | romso o (]
7 |16:00 ;Z P { - }
g Ba—k E
F— #
28H8 —k 5 _ B
A1 - 1 z F—/ j(
= _ %"“ A _t — AIDA ,E
| prng ﬁ 4 i KA IFCI}.EBRA { — } HEBA ;e
a - FHA { 2} &
9:00 [ -1 T =on ) xEn |
9:30 é,%\ A B } 2 EIDA { - .l
1 '_10 1w { = } JBA A { = } JIEB ﬁ;
2110 Ié #)I1A { - — B FOHLEB — } FCHIRA | @
R R { - } A BRA { - KiEA /ZJ:_\
130 | xme ~ ) e { ~} x
: 2:10| & FHA { - INBA A e { _ } O |
. \ _
alk ;& HERA { — } FEB B i B } CHRDY L—F
il : { - } — CHFACT LTt { — 5 ZA2fi
30| & s - v52BY LT 1ti| C - } ADSR
7 |1330] 2 =1 [ 1" i | a | oo | [ -
8 |14:10 CHSAAT ) { - } AYSRB2{iL pp— { : }
SAATfL - B/C ’ =
9 114:40 A'77_Z:*H# { : } A |arszspmmen { - }
10 [ 15:20 7 5 { - ] { -~}
11 [16:00 ATS AR { - } { _ }
[




